(Continued Fraction for all Square Root Numbers)

(Schebysheff,Chebyshev)

cosnd =T, (cosd) =T, (X)
sinnd=sind U_,(cosO)
U n-1 (cos®) =U n-1 (%)

T, (x) U, (x)
c0s20 = 2cos* 0 -1 T,(x)=2x" -1
c0s36 = 4cos®—3cosd T, (x) = 4x° - 3x
sin 20 =sin @ 2coso U, (x) = 2x

sin3@ =3sin @ —4sin®0
=sin@ (3—4sin’6)

=sin@ (4cos’0-1) U,(x)=4x"-1

T,(X)=x, T,(x)=1, U,(x)=1, U,(x)=0

[ETn(xj ~U,, ()
n

T,(x),U,(x)
A2 = 2Xan+1 -a,
T, (T, (X)) =T, (X)
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t2 —2xt+1=0

t=x++/x"-1
_ (X+VX2=1)" + (x—/x* =1)"
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n

_ (VX 1)~ (x=Vx® =)
2Ux% -1

U n-1

T.(0° = (x* =DU ., (x)* =1
x> —Dy? =1
X+Vx2-1=x+ y\/B

x*-1=y?D
x? —y?D =1
(X, y)
JD

N
y
T,(X)? = (x* =)U,, (x)* =1
T,(0)*-y’D U ,(x)?*=1

T,()?-D(yU,,(x)* =1



l+l:l 1-1

To(x) = > UO(X):TZO
Tl(x):x+«/x2+1;x—\/x2 —l:X
U (X):x+\/x2—1—(x—\/x2—1):1

' 24x? -1
Tz(X)=(XjL X2+1)2;(X_ Xz_l)zz—l+2x2

(X+Vx*+1)* — (x—V/x* -1)?

U,(x)= =2

) 24U x? -1 "
T,(x) = (VX2 +1)° ;(X_ X2 1) = 3%+ 4x°
U, (x) = (X +x*+1)° —(x =+ x> -1)° e

24/ x% -1

To (X),Uq (X)

T,(x) =1-8x* +8x"
U,(x) =1-12x* +16x"

T, (X) =5x —20x° +16x°

U, (x) = 6x —32x% +32x°

T, (X) = —1+18x* — 48x* +32x°
Ug(X) = -1+ 24x* —80x* + 64x°
T,(x) = =7x+56x% —=112x° + 64x’
U, (x) = -8x+80x°* —192x° +128x’

T, (X) =1-32x* +160x* — 256x° +128x°



U, (X) =1-40%> + 240x* — 448x° + 256%°
T, (X) =9x —120x° + 432x° —=576X" + 256x°

U, (x) =10x—160x° +672x° —1024x" +512x°

T.(x)> -=D(yU, ,(x)* =1

y 1

Xx=3->x*-1=8=y’D—>y=2,D=2
X=2->x"-1=3=y’D>y=1,D=3
X=9-5>x*-1=80=y°D>y=4D=5
X=5->x"-1=24=y°D>y=2,D=6
Xx=8—>x*-1=63=y’D—>y=3D=7
Xx=3->x*-1=8=y’D—>y=1,D=8

x=19 5> x*-1=360=y°D > y=6,D=10

x=10 > x*-1=99=y°D »>y=3 D=11
X=7—>x"-1=48=y’D >y=2D=12

X =649 > x* —1=421200= y°D — y =180,D =13

1 (x,y,D)=(32,2)

T,3)=-1+23*=17 yU,(3)=2(23)=12

T,(3)=-33+43°=99 yU,(3)=2(-1+43%)=70

T,(3)=1-83°+83*=577 yU,(3)=2(-43+83%)=408
(x,y,D) =(213)

T,(2=-1+222=7 yU,(2)=122)=4

T.(2)=-32+42°=26 yU,(2)=1(-1+42%)=15

4



T,(2)=1-82°+82"=97 yU,(2)=1(-42+82%)=56
(x,y,D)=(9,4,5)

T,(9)=-1+29>=161 yU,(9)=4(29) =72

T,(9)=-39+49°=2889 yU,(9)=4(-1+49%)=1292

T,(9)=1-89°+89" =51841 yU,(2) =4(-49+89°)=23184
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(x,y,D)=(32.2)
T,(3)=-1+232=17 yU,(3)=2(23)=12
T,(7) =-1+217> =577 yU,(17) =12(217) = 408
T,(577) =—1+2 5772 =665857  yU,(577) = 408(2 577) = 470832

(x,y,D)=(213)
T,(2)=-1+222=7 yU,(2)=1(22)=4
T,(7)=-1+272=97 yU,(7)=4(27) =56
T,(97)=-1+297% =18817 yU,(97) =56(2 97) =10864

(X, y,D) = (9,4,5)
T,(9) =—-1+29° =161
yU,(9) = 4(29) = 72

T,(161) = -1+ 2161 =51841
yU, (161) = 72(2 161) = 23184

T,(51841) = —1+ 2 518417 = 5374978561

yU, (51841) = 23184(2 51841) = 2403763488

(x,y,D)=(3,2,2)
T,3)=-1+23=17 yU,(3)=2(23)=12



T,(17)=1-817* +817* = 665857

yU,(17) =12(-417 +817°) = 470832

(x,y,D) =(213)
T,2)=-1+22°=7 yU,(2)=1(22)=4
T,(7)=1-87°+87*=18817

yU,(17) = 4(-4 7+8 7°) =10864

(x,V,D) = (9,4,5)
T,(9) =-1+2 92 =161
yU,(9) = 4(29) =72
T,(161) =1-8161% +8161* = 5374978561

yU, (161) = 72(-4 161+ 8 161°) = 2403763488

T, (T, (X)) =T, (X) = -1+18x* —48x* +32x°

[%Te (X)j =U,(x) = 6x—32x> +32x°

T, (T, (X)) = T, (X) = =1+ 50x* — 400x* +1120x° —1280x°® +512x"

U (X) = [%Tlo(x)j =10x —160x° + 672x°> —1024x" +512x°
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